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UNNASE MOCK EXAMINATION 2019
Uganda Certificate of Education
CHEMISTRY PRACTICAL
Paper 3

2 hours

INSTRUCTIONS TO CANDIDATES:

Answer all the guestions.

All questions carry equal marks.

Answers are to be written in the spaces provided ONLY.

You are not allowed to use any reference books.

Mathematical tables, slide rulers and non-programmable silent electronic calculators may be

used.
You will be penalized for untidy work.

Do not use a pencil. Use a blue or black pen only
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[.You are provided with the following:
BA1, whichisa solution of substance Y of unknown concentration
BA2, which is a 0.2M solution of substance X.

Ethanol

You are required to determine the concentration of Y in moldm-3,

Procedure:

(). Arrange six test tubes in a test tube rack and label them in order from 1 to 6.
(b). Using a burette, run 10cm® of BA1 in each of the test tubes.
(c). Using a 10cm® measuring cylinder, add 2cm? of BA2 to the test tube labeled 1. followed by 5
drops of ethanol. Hold the mouth of the test tube with your finger, shake vigorously and place the
test tube in the rack to settle,

(d). After five minutes, record the height of the precipitate.

(e). Repeat procedure (c) and (d) by adding 3.0, 4.0, 5. 0 6.0 and 7 0cm’ of BA2 to the tubes
labeled 2, 3, 4, 5 and 6 respectively. . :

(e). After about five minutes, measure the height of the precipitate in each test tube.

(f). Record the results in the table below.

Table of results:

Test tube number 1 2 3 4 5
'LVoEme of BA1 (cm?) 100 | 100 | 100 | 100 | 100 | 10. U w}
9
\ Volume of BA2 (cm®) 20 | 30 | 40 5.0 6.0 ( T i é
2 s ‘. i
Height of precipitate (cm) O'ﬁ 0. (3‘ 0 3" |« l | « \'B/i é ‘
L N4 v /\/ / (6%rks)° © ‘1
Questions; $ ol ¥ ol o
(a)(i). Plot a graph of helghT of prec:pno(l against volume of BA2 added. (6 3 marks) COV\Q)M
| : {
Qe Y% B oks ObY%
= : 2
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t") From the graph, determine the volume of BA2 which

produces the maximum height of the
. o’ pPrecipitate.

(2 marks)

(b). Calculate the;
(). Number of moles of X that reacted.

\ A

(i1). Number of moles of ¥ that reacted with X.
(1 mole of Y reacts with 1 mole of X)

& Loadt. z};Q

(c) Determine the concem‘m‘rlon of Y in mol dm™3 _
A0en® DQ LA em\tmﬂ

TG A BR Grtenn pissta xin
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2. You i ' .
are provided with substance Z which contains two cations and one anion. Carry out the

following tests on Z to identify the cations and anion, Identify any gases evolved, Record your

results in the table below.

(Zf‘marks)

\ TESTS

(a) Heat one spatula endful of Z *
ina dry test tube, first gently
then strongly until there is no

further change.

Cd\evw'\ﬂ:d (et \m‘v‘ 3
m%s Ll Hnosm o1t
ceA o W

e o A cidieXgen

OBSERVATIONS TR
Wik «/)( DE%* 3 zw o “i
i)
vOM M MC 0. MO ?

(b). To two spatula endfuls of Z in

a test tube add 5 ¢cm® of water and

shake to dissolve. To the resultant

solution add ammonia solution drop-
wise until in excess and filter. Keep

both the filtrate and residue.

Co\ew\?)/go«\w\ﬂ ‘ o A
vlskefpt \nsckible % Py M

"\W{x\ﬁ\te - ‘f%
o o Z}X

(c). To the filtrate from (b), add
dilute nitric acid drop wise until the
solution is just acidic. Divide the

/acidic solution into five portions

Pp* SMQ K8

aC| Yo fomv & Zn 2

(i). To the first portion of the

acidic solution, add dilute sodium
hydroxide solution drop- wise unti I

in excess.

(ii). To the second portion of the
acidic solution, add dilute ammonia

solution drop- wise until in excess.

x X~
\,Q\r:vk\/‘)?'\' ch\\Q ot 2
v 204 Yo torm & Z

colovr \0on .go»{(\‘,&-:ov\ {
%

4
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ESTS

[ OBSERVATIONS DEDUCTIONS
(i1i). To the third portion of the ) B o
acidic solution, add 2-3 drops lead

v lWite gt
(ii) nitrate solution \-ﬂ

1&
"ok
\D Svae STA, \‘:Lnr.lum
/ (iv). To the fourth portion of the ‘\} t L W)
J acidic solution, add 2-3 drops silver o 4
‘ nitrate solution

C‘qowua,e C’\\./‘ﬁ'w;“:’q
(v). Use the fifth portion of the ,

| acidic solution to carry out a test

of your own to confirm the anion in
&

!

!T‘ﬂ: A—AA 3-Y deo

| Pl olode S50 2 d)
; % gc»@\% Seludhion P?* \X%)
|

j (d) Wash the residue and dry it. ]
ey
|
\

issolve the residue in a minimum

SRy it
amount of dilute nitric acid. Divide COYOW‘QM £ O(N&\ On Al

| the resultant solution into three

N
\ﬁrﬁons. ‘X /‘/
voluke” ppt s

[~
Y vab e 3t 24
acidic solution, add dilute sodium My Yo e P
\ hydroxide solution drop- wise until

n excess. c,@‘ Mbcd &O‘Q":& " -

‘ (i). To the first portion of the
i

[

!

\z [ Pl
(11). To the second portion of the \,\N-\-Q \)( tii \/( N
acidic solution, add dilute ammonia w ?P“/ tV\S o “f
solution drop- wise until in excess :

2+
1n 0 (96 N P -8
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OBSERVATIONS

’ Deoucrz.ons 7

(iii). To the third portion of the

acidic solution, add 2-3 drops of M 0 @s \)( a \ F&Zy‘/a)bw |
potassium iodide solution W 3t
o %Z A\ ‘)(‘CCM«G'W\Q ap

Cowc{,\rww. \n @)
(e) (1) ée cohons(m Z are -1 n A\Bu
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(i) TheanioninZis ... O
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